Normal Learning/Training in PCT. Ted Cloak

Consider three control systems in a hierarchy, A over B over C (below, right). 
Problem: How does B learn to help A control its perception? In other words, how does A train B to help it control its perception?
[image: image1]The heuristic flow charts below show how, most likely after multiple iterations, changes in the reference signal (standard) stored in Register r of B’s Memory will increase the likelihood, and/or the speed, of A controlling its perception. 
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1radiant variation: one or more parameters of something (a signal, in this case) is modified at random in any direction, along any dimension, but the amount of modification is always limited by the starting value(s) of the parameter(s). In other words, “No saltations allowed.” 
Mechanisms might evolve that would make the radiant variation a trifle more directional; for example, if B’s Memory stores many alternative reference standards, they could be tried, and/or partial success (reduced intensity of A’s address signal) could bias the sampling. The “blind variation and selective retention” (D.T. Campbell) model, however, is fundamental.
2The 0.1 second pause is, of course, to allow C and control systems below C in the hierarchy to act before changing the reference signal.
Now, consider the same hierarchy, A over B over C, this time in Imagination Mode.


[image: image2]
Clearly, learning/training in Imagination Mode is much faster than learning in Control Mode. Once B “knows” what perception to control, it can proceed to train C to get that perception for it, and so forth, down the hierarchy.  Sooner or later, however, the learning must be done in Control Mode, if the hierarchy is going to control perceptions of the real environment. A mechanism must evolve/have evolved to optimize the point of Mode switching. 
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B: Reference Signal in Register r Undergoes Radiant Variation1
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